h ‘l“';tmns (1 5) : Rearrange the

e :-._-__fcﬂlomng five sentences (A), (B),
(C), D) and (E) in a proper
~ sequence so as lo form a
m&amngful pﬂmgraph and then

~ answer the gwen questions given
befﬂw |

'3';" A She thought it was very
- dangerous to have that mallet

;  there, and started talkmg to
S herself
A3 It must have been there f@r a

- _had never noticed it before,
" .-'_:'.jj.'- and she began thinking.

S i " C. Saying all this, she threw her |

- tools, sat herself down and
~_began crying.

~D. Once evening when Mia had

_ gone down to the cellar, she
happened to look up at the

ceiling and saw a mallet (a

- kind of wooden hammer)

- stuck in one of the beams.

SR T “Suppose I was to be

B ?-'f:]'marrled and have a son, and |
- he was to grow up to be a man, |

‘and come down into the
_cellar, like I am doing now

" ﬁf the follo'mng shauld be | e
}";:H T (F IFTH) sentence after -

gement ?
S {2) } 5

IR

M)A
(3} C 4)D
(5 E |
. Which of the fﬂllowmg should be |

. Which of the follnwmg should be

~ long time but somehow she|

. Which of the followmg should be

- rearran ﬂement ?

~ four words given in the bold may |
be either
~Inappropriate in the context of the

- Senlence.
- which Is
- nappropriate, if any. That word |

C am:i Lhe mallet was to fall on | will be your answer. If all words

 context of the sentence, then All

. The government has 'perinitled.

;5= 58 % limit of 50 percent.
fgﬂgwmg shﬂuldbe ' (1) permitted

F..: =2 T

 the FIRS) __.hh-ﬁﬂntense afi‘&r ﬂla

(5) All correct

‘the THIRD sentence after the
‘rearrangement ?

|

(1) A @B |
P BC. e 8.

the SECOND sentence after the
rearrangement ?

(1) A (2)B
B)C @D
(5) E | 9.

the FOURTH sentence after the

(1A (2)B
(3) C (4) E _

Directions (6-10) : In these
questions, sentences with four
bold words are given. One from

wrongly spelt or
Find out the word
wrongly spelt or|
given in the bold are correctly
spelt and also appropriate in the

correct’ is your answer.

foreign direct investment in
digitail service providers upto a

(2) digitail
(4) percent

(3) service

IR g

A bank gift card is usually a
prepaid card which can be used
in an ATM o cheque the balance
but one cannot withdraw cash.
(1) usually (2) prepaid

(3) cheque (4) withdraw

(5) All correct

He firsl joinned the Board of
Directors two years ago and has
expressed his concerns at
various global debates.

(1) joinned (2) ago

(3) various (4) global

(5) All correct

The waste amount of information
available today has created a more
knowledgeable public.

(1) waste (2) amount

(3) infermation (4) public

(5) All correct

Some of the steps taken over the
late few months have made the
tax return filing process simpler.
(1) steps (2) late

(3) filing (4) simpler

(5) All correct

Directions (11-20) : Read the
Jollowing passage carefully and
answer the questions given.
Certain words/phrases have been
given in bold to help you locate
them while answering some of the

_ questions.

A long time ago, an honest king
ruled over a small kingdom
named Bijanagar.. Every day, the
king would listen to the

- complaints of his people and try

to snlve their problems in the
best possible way. One day, a
soldier came running into the
king’s court. ‘I have an alarming
pnec.t, of news, My Lord! cried

o L2

= ol o p— g e T



= __our internal problems.

g ]

- out the fruth. The

SRS The
. house }and r.:alled uut
E~'P]t=3ase give me fﬂod' The farmer
- came out with two
S _:breadmhls

" our ‘wells”, ‘How can you be so|
ﬁﬂre"‘ asked the alﬂ man. ‘T heard|

e Iﬂﬁtﬁm lnn - (5) Disguise-The Only Way to 3

egaout the aoldier My mfe tﬂld me| |

s some
kmgdc}m Crﬂps

Ao o o L
‘heard this, he instantly

walkad i

awl i ounfi” =

Up to the king and said, “I guess|

smﬂﬁfﬁn&my is. tr

~ attention gets

| .-‘_ng to Create| =
Lf "t.’mrx:Lr sothatour|
diverted to solving |
And thE!Ilj'

the enemy will take advantage of |

5 --.-heeause of disease.
Meanwh.lle, =

. mysel.f as an ﬁld man and try to

SUIIIB

g agraed . That evenmg, the
 minister dngmsed himself as a

"\lu.

- '---pedf old man and camg out of
~ the P&IHCB stealthxly Ap

‘Food!

“king

.. our inner distur bances: and |
.';af}-f?.;a&.-fiitﬁgk: -!i;ﬁ;:!-'é.fs;ﬁid?thé minister, =~ |
S o seem to be nght* nodded the
S e W hat shall we do then?’
'.I.'he mlmster said, Alncamyt -
~_opinion, we should not let our|
. people know that we suspect our/|
- enemy. It may 8ive rise to|
~ contempt. Instead, we ‘should |
~ distribute food and water among |
S ONT peaple and tell them that the |
- crops m:tght have been damaged. hs

Minister went tu a farmer sl

I owill dmguise" -

_pieces of | 11.

| nd and said, Thisf
_is all that T have, 0O old man!'|

tha—nld man. Yes, sameone has|
bBB,n very cruel. They have_ i

ped and ruined ‘my crops’,

said the farmer. “But I heard the |

- crops were ruined because of a =
.dl_sease said the old man. ‘No,| iy
he the farmer| °
interrupted, “The rﬂyﬂl guards|
They have|

hat's. mnot true!’

ara the ‘cul pnts

it _&um__samﬂ“ peop

" ﬁrr t-he fmd and f&ﬂ;ﬁa

(8) Accomplished
‘Which of the following can be an |

ed our crops and pmsaned .

\anked ihﬁfamer 13,

.-5-:3 IU The real cul rits behind rhe
(Z)T‘he

i Miniater Wi aided sl
o coins apﬂn identifymg the|

= -ua! said one of them. “Yes, our
King isn't honest any more. He |
~ has lost his goodwill”” backed i up
 the other.

- there nodded in agreement: After:
~a while, the two young men |
~ prepared to leave. The Ininister |
disguised as the old man was.|.
started |

~against their king. - :
~ continue the same way. Within a|
~ couple of days, the angry citizens |
_ will revolt against their ruler,
~ Then we should inform our .
king,” and that would be the most

punished for their deeds.
Which of the following is most
s naarly the.  OPPOSITE in

(3) Succeeded

(1) The Ungrateful Cit1zens

~ (2) The Evil in Bz]anagar

- (3) The Good Harvest

- (4) Never Trust your Minister

Everyone standm

watching  them. He
following the two young men.
When they came out of the inn,
one of the young men said, “We
have provoked  these people
We must

appropriate moment to attack’,
laughed the other young man.

The Minister heard it all. He hid
behind a tree. The two young

men went inside a.small hut. The |

minister came back to the palace
and informed the king about the |
wicked plan of the other

kingdom. Instantly the soldiers|

rode to the small hut where the

two ‘men are ~staying ‘and |
captured - them. ' The next
morning, the culprits were|

brought out in the palace ' for
their evil

' meanmg to the word ‘RUINED’

~ “You seem to be in trouble”, said|  as used in the story ?

(1) R300ns_tru_cted
(2) Built

(4) Nurtured

appropriate title for the stc‘-ry ?

 miachief were the soldiers nf

_ Bijanagar,
mitxa]l hesﬁated to

plan and were|

. Reveal the Truth |
Which of the followtng
il sfatements is true in the cuntext |
~ ofthe 3tory?

=

2 {4] The farmﬂr who gave bread i,

‘ the Minister was kind ang
humane.

s .:_.[5] None of tbé- g;nren statpnwn

1strue

14Whi‘3h of the followmg 18 most

] I];E&I‘Iy l'_hE SAM‘E in meaning g

~ theword PROVOKED’ as uscd 1

~ the story s

(1) Mouvated

(2) Heightened

(3) Instigated (4] Allowed

(5) Injured

i&;._;’*%ch of the followi ng cnrreuh

explains the meaning of the

S phrase ‘lost his gondwzll as used

in the story ?
(1) Mlsplaced his valuables
(2) Lost his relatives

" (3) Suffered a serious injury

16.

(4) Failed 'to gain the love of his

friends in the first place
(5) Lost respect among his people
Which  of = the tollowing
characteristics of the Ministe;
comes across distinctly through
the story ?
(1) He was cowardly
(2) He was sharp
(3) He was greedy

" (4) He was old

17,

19.

_ young were

(5) He was violent

As mentioned in the story, the
Minister disguised himself as an
old man to :

(A)visit the kingdom without the
fear of being thrashed by public.

(B) partlclpata in a local fair,

(C)identify the culprit causing
mischief in Bijanagar.

(1) Only A (2) Both A and B
(3} Only C (4) Both B and C
(5] Only B |

As mentioned in the story, the

provoking  the

~Citizens of Bijanagar bacause :

(1) they were being bribed by the
Minister for doing so,

(2) it was a part of their pian to
attack Bijanagar,

(3) they wanted to ruin the
reputation of Bijanagar.

(4) they were notorious by
nature.

(5] Other than those gnu; as
“options

Which of the Iol]uwmg 1S most “
nearly the SAME in meaning 1o
the word ‘STEALTHILY® as used

in the story ?

(1) Secretmely {2} Hmastlv
(3) Publicly  4) Shvly

el 4 & Py 1 e



_fki?ﬁ"‘”ms is most _nmrlv the GPPGSI‘I‘F in |

e “*md ONFESS' asused in the smw? |
12) Reveal

(‘1] B&h&v&d

s @21 25 on these

_ qumuans
0 find out whether there fs any grammatical
S _,mwm it The error, if any, will be in one part

m:&'m:e Select the part with the 6Iror as your
er. If there is no error, select ‘No error' as your
{lmmm the errors of punctuation, if any)

k quickly /(1) come inside and
X /(2) caught
}’I?____‘tha surprised crow./{4) No 8rror (;) o

SUmmer &ﬂarnﬂan ‘"'{1] the queen and her xnmd
out f{}r a stmll !(3} in the palace gardens./(4)

| unters 1[1] Stﬂpped in their traclcs 1(2] as the

Wfﬂ aWay the ]ackal /(1) became fat and
ecause /(2) the lion was a good hunter and
-. }1&& a generaus share for his friends./(4) No

f",t ca]led out to (1)/ the villagers in his
(2)/ and it all came eagerly (3)/ to see what
him./(4) No error (5)

6-30) : In the following passage, there are
of which has been numbered. These
nnted below the passage and against

_j e, thare hved a poor orphan who was
"frartlst and would often draw pictures
ains - -and people. One day, a fairy
olden pamtbrush and to his great
r he- pamted Wlth the brush came (o

----

Tread fhe _

'PART s NU

NUMERICAL ABILITY

5. 'Ruhi ﬂpends 3(}% of her monthly ealary on rant :
transportation and bills in the respective ratio of

71513 If he spends T 3,560/~ on the transportation,
“how.much is her tnonthly salary ?

1) ¥ 30,250/ (2) % 40,000/- (3) T 35,600/-
~ (4) ¥ 44.750/- (5) ¥ 36,000/- =
Directions (32-36) : Study the table and answer the
| gwen questions.

Number of members'in 5 book clubs
during 5 given years

_::;I.saw f[?-] was exh'emely beautiful./(4) No |

Year _
Book CIub 2006 | 2007 | 2008 | 2009 | 2010
M 189 | 133 | 169 | 113 | 189
N 125 | 164 | 205 | 129 | 187
0 121 | 120 | 189 | 178.| 195
P 147 | 167 | 145 | 147 | 123
Q 129 | 234 | 154 | 169 | 177

[2] dﬂemma

'.._.;,...

32. Number of members in book club O increased by
what percent from 2007 to 2010 ? '

(1) 65% (2) 64.5% (3) 58%
(4) 62.5% _(5) 56.5%

33. What is the difference between total number of
members in book clubs O and P together in 2006 and
that in book clubs M and N together in 2008 ?

(1) 98 (2) 94 (3) 96
(4) 104 (5) 106 :

34. What is the respective ratio between total number of
members in book club M in 2006 and 2010 together
and that in book club Q in the same years together 7
(1):21::17 (2) 21: 189 (3) 19 : 17
(4) 23 : 19 (5) 23 : 17

35. What is the average number of members in book
clubs M, N and Q in 2007 ?

(1) 179 - (2)181 (3) 177
(4) 183 (5) 173

36. If 45% of the total number of members in book clubs
M, N and O together in 2009 are males, what is the
total number of male members in book clubs M, N
and O together in 2009 7"

(1) 181 - (2).189 (3) 187
(4) 191 (5)197
- 37. Five years ago, ‘the average of 8imi’ age thal time and
Tia's age that time was 17 years. Five years from now,
the respective ratio between Simi's age and Tia's age
that time will be 8 : 5, Whﬂt is Simi's present age ?
(1) 16 years ~ (2) 11 years (3) 32 years
-~ [4)28 years {5) 23 years
- 38. The profit earned by selling an article for ¥ 730/~ is
~ double the loss incurred when the same article is solc

'_-.:pl- =

~ for % 255/, what would be the selling price of the
. article if it is sald at 15% profit ?
=_Q_','?_?;'.-'.'?fl) 2 4&}:’  (2)% 495/

 (4) R 488 e -5{5) None of these

it

(3) % 477)-

- el -




 mposdof A bowt i il et
o s G |

. ﬂ A el covers ﬁ. démm ﬂ
G 388 ke at & centain speed in 8
mmwmm
verage Wi
than that |
ﬂilhﬂimdahhamkmw;
a distance which is 16 kin mume |
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{5] None of these i
Direcﬁun: {47-56) :

_questions

-‘_’7. 60% of 540+ 45%0‘?:-&6’

{1) 380
(3} 340
(5] 300
48. ﬂﬂ*!ﬂxh*? 3 liﬁﬂ
(1)570 (2480
(3} 5&& {4) 540
{5
1349 + v‘m 22"
-.l.i_} 14 {2y 12
{318 410
iﬁl 8

{2) 328
{4) 280

(11 63.25
{3) 16725
. (5]1156.75
sz 3‘5:7%1!_ 143 =3

ik (2)6
fﬂﬂ“ {4) 4
_f5‘i 2 |

{2)173.75
{4) 176.25

7

0 e . 32 (—'E 1 g- ¥ i) of 7= 593__.

i .\

W sﬁ'a:-.
f3) 252
”:f(s} 224

(2) 364
(4) 196

_I-
"_F'

48 m lﬁ:‘ ﬁthﬂﬂxﬁd-gﬂ 121 =7
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- what is
scheme A 7

le is
neter

-a piece of work in 30 days
0 days respectively, They
d-working together and|

w days B left. After that A

;ﬁft‘e;_r_ how many days
ogether B laft 7

: REASONING
%ers of the word

B arranged in
etical order from left to

5 (67-68) : Study the
information and answer
L?ﬁﬁans. | -

s married to R, R i the
f PP is the wife of H.

ly child of V, then |

k=

A=rh

the sumt

g "_'_e_tgr of an i‘.éguilqatefﬁl.
%0 m less than the!
of a square, Af the|

B ¢an independently

} the remaining work |

~ Directions (69-73) - Study the

- Jfollowing Information and answer |

the given questions.

- J K, L, M, N, O, Pand Q .a're_'-

~ sifting around a circular table

facing  the centre
necessarily in the same order.
- Only three people sit between Q

 and P. N sits third to the right of

69. Wh

70.

represent the immediate |

neighbours of Q ? '
()M K (2) K, N

(3) £, K (4) ], N

(5} ], L |

71!‘

72.

_arrangement and

Q. O is neither an immediate
neighbour of Q nor p ;

J is an immediate neighbour of P.
Only three people sit between
Jand K. = :

Only one person sits between K
and M. M is not an immediate

neighbour of Q.

o among the following sits
second to the left of 07

(1) K (2)L

(3) M (4) P

(5) Q |

Who amongst the - following

Which amongst the .following is
true regarding L, as per the given
darrangement ?

(1) Only three people sit between |

O and L
(2} None of the given statements
is true | ,_
(3) N sits second to the left of L

(4) P is one of the immediate|

neighbours of L.
(5) Only one person sits between

L and K | |
Four of the following five are
alike in a certain way based on
their positions in the given
so form a
group. Which is the one that
does not belong to that group ?

but not|

(None:
(2] Cannot be determined

 (4) One

75.

(8) Two .~ 58 |
If all the numbers in 42731658
are arranged in ascending order
from left to right, the position(s)

- of how many number(s) will

- remain unchanged 7

76.

77.

78.

(1) Three

{2) More than three
(3) None
(4) Two
(5) One S
Directions  (76-80) ‘These
questions are based on five
three-digit numbers given below.
415 764 327 542 256

What will be the resultant if
second digit of the lowest
number and third digit of the
highest number are multiplied ?

(1) 30 (2) 14
(3) 8 (4) 20
(5) 36

If ‘1" is added to the first digit of
every odd number and ‘2’ is
subtracted from the second digit
of every even number, in how
many numbers will a digit
appear twice ?

(1) Two (2) Three
(3) Four (4) None
(5) One

The positions of the first and the

-second digits of each of the
-numbers are interchanged. What

will be the resultant if third digit

_ of highest number thus formed is

divided by the second digit of the
lowest number thus formed ?

(1) 3 (2) 4
(3) 2.5 (4) 1.5
(5) 1 -

. _ _ 79. 1f in each number all the digits
« (1) LKN [2JPOM are arranged in ascending order
(3)MKO (4} NJL from left to right within the
(5) KNQ | | ; number, how many numbers
73. How many people are seated thus « formed will be odd
~_between O and J, when counted numbeis 7
from the left of | 7 ' ~ (1):None (2) Two
(1)None  [(2)One % (3)One (4) Four
(3) Two (4] Three - '(5) Three :
(5) Four. i 80, Ifall the nuimbers are arranged in

74,

- and P7

i3 ssightlin of ol pooplo |

(facing north), P sits fifth from|
the left end of the line. Only|

[ a

three people sit between Jand P|

sits third fo the right of &.

ik
Lol

many people. sit. bet

~ “asgending order from left to
- right, which of the following will
- be the sum of all the three digits

of the number which is third
from the left ? :

(1) 12 < of2In
(3) 10 4)13
AR Y,



= ,fDil'ﬁFﬁm:_ls (81-85) : In these questions, relationship

~ betwaen different elements is shown in the statements, |
The statements qre Joliowed by conclusions. Study the |

n statements and select

conclusions based on the given

 the appropriate answer.
Give answer; i

(1) i either conclusion I or s true

> - {2) ]_;['o'nly conclugion Lis true

- (39 1fboth conclusions T and 11 are true
~ (4) If neither conclusion I nor 11 is true |

- (5} Honly conclusion I is true
81, Statement :F<R<L<S~>0
.~ Conclusions: . F<s
82 Statement :U<(C=N< BIeS) sl

- Conclusions: 1. Q> U
Statement :G>R=0>W
~ Conclusions : 1. G>W
. Statements :K>E>R=A:E<B
- Conclusions : L. K=A e
- Statement :D=0<LsP>H
 Conclusions 3 o e I
~ numbers/symbols followed by five
inter

g,

- combinations correctly jrepresents the group of
numbers/symbols based on the given codi

.I'I;--O':;'R
mCey:
i 'H:?'W:=_G

- H.A_t_::'B . ;

5 &= _. IH.O>H
ons (86-90) : In these questions,

codes Is given. You have to find out

 and the conditions and mark that combing

: .

92

93.

94,

a group of
combinations of
which of the | gg.
ng system
ion asyour|

= |86

. : = dns.; LFI-EI: ?7,'-.,: ._"._. wd |

3| &+

#1719

%|2/715]8

| éﬁgf _|E|M|Dju RIY(A

s|J

1Q[

Lielciul

Z

(i) If the first and the third elements are

:
A

H (iii) If the last element is an even number then the

= - first element iﬁltqj:}:!‘?;.:caded:'as

- «even number,

. (09) i the sarond cloments syt

a o1
Ly

- thefirstelement, |

ot

to right fo fulfil the condition.)

@°2%43

(5) = 5 EU

1. (2)YQCYFU

then their codes are to be interchanged,
-' (i) If an odd number is immediately followed as well
' .. asimmediately preceded by a symbol then that |
. odd numberis to be coded as ‘X

that symbol is to be interchanged with the code of |
[Note : All the elements have to be counted from left

. @YUFZQ] (3 FuvZX]

e
3!

QKA ()2

il L

symbols |

thg cyfIE'- of thgt o7
then the code of

(3) PDLMUS

(3) Fourth to the left
(5) Second to the right

- (1) EFGIM
- (4) EGQJL

only one person.

o 99,

| 100
directions) ag they have

(1) More than thmﬂtz}mgﬂe
#)One " symgien

S T R R oo S S Al e

Directions (51-9;5.};1 Study the following information

.. answer the given questions.

SO T N e e traight line
'K, L M, P, Q and R are seated in a straight I,
Factis Sith iith B8 Bl ohatar e bativosn o ou.

- but not necessarily in the same order.

P sits third to the left of K. Q sits second to the right of i

L sits third to the right of R. R does not sit at any of (.
. extreme ends of the line.

Only one person sits betwe&n R and J. .
What is the position of ] Tﬁ%Tr}?f%e;:t :? PI. :
J Immediate left (2) Third to the le
e _(4) Fifth to the right

How many persons ara;_s_i_aét&d b_étiv&an Rand Q) 7

(1) Two  (2)Three  (3) None

(4) Four (8)One - , .
Who amongst the following sits to the immediae
rightof L7 gt sy

WE o L oy (3) K

EluE o Al e |
Who amongst the following sits exactly in the middl.
of the line ? e e

(1) M 2R
(9Q ey
Which of the following represents persons seated a
two extreme ends of the line ? |
(1)), Q (2) K, Q
(4) K, L e = U(5) /P K -
In a certain code language, DEALT is coded as FNCKV

and HOPES is codgﬁasINRDU. In the same code

language, how will CHALK be coded as ?

(2) EGCKM (8) BFCKU

(8} BFOM

Directions (97-98) : Study the following information

carefully to answer the given questions.

Five people A, B; ;D and E have different numbers

of ﬂ_GWBI‘S._ in thﬁii‘- hands, B has more flowers than
‘A has more flowers than C but Jes:

than D. C does not have the least number of flowers.

The one who has the most number of flowers has 17

flowers. The one who has the third least number o

flowers has 11 flowers, '
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